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Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
== ° T (=) iy o L) ° TNs a3 &= 04| AFOH U=sa
101 eIl 10,476 10,009 467
04 JIZtHZ22XNSE+ 10,476 10,009 467
OltggA22H 10,476
SPIEt= 36,500% * 19 = 230 8,395
oxgd 36,500% * 19 = 46 1,679
oAXtg 36,500& * 19 = 11 402
201 LetIH| 3,000 3,214 A214
01 AbR2t2lH| 3,000 3,214 A214
Ogr=Z2H| 3,000
oltgal - A2 AEBE L 23|
2,000,000& * 14 2,000
oktZ & AlAE RIS
1,000,000& * 14 1,000
405 K&t =SH| 15,000 5,000 10,000
02 SNl 15,000 5,000 10,000
OXtgd &7 15,000,000& * 14 15,000
JE&el 29 174,450 188,450 A 14,000
201 Ler243d| 170,450 184,450 214,000
01 AtR2t2lH| 10,450 10,450 0
Ogbr=Z2H| 10,450
o AEYX 2t 50,000& * 100% 5,000
oREZ AAE 2IH| 200,000& = 12& 2,400
ocHEZMEHHNE 20,000& = 1002 2,000
ocHEIMASE 3o =
70,000& = 3Y = 53] 1,050
02 =323l 160,000 174,000 A 14,000
O322= % HA 160,000
ocRHBYUSH 130,000,000& * 14 130,000
oltg&H2|AIAE RS2
2,500,000& * 12& 30,000
202 Ol 4,000 4,000 0
01 =LA b 4,000 4,000 0
OJlEs22 e 84 ol
100,000 * 49 » 103 4,000
NASK S& 2,810,244 2,549,932 260,312
SEINE Es2 K= 306,000 288,000 18,000
303 ZA= 306,000 288,000 18,000
01 ZA2 306,000 288,000 18,000
OSRENY E=2
150,000& * 1709 = 12& 306,000
=222 HM=UE WX 18,480 18,480 0
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43 BENAR A BENRD
B 808 NRE)| X4
e HA=T =2 (9 &
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= Oﬂj\}OH In_-“‘j_'n:_ H|j§3k
== ° T == T2 ° TNs a3 &= 04| AFOH U=sa
201 Let243| 9,240 9,240 0
01 AtR2t2lH| 9,240 9,240 0
O= &l 9,240
oZ28 2 JiE NFASUE HA
7,000& = 1,320 9,240
301 LEtEAZ 9,240 9,240 0
10 At HI B4 3 9,240 9,240 0
O= &l 9,240
cR2Y W IIE ANSHE N
7,000& = 1,320 9,240
33 XN& 2 2Z 20,650 13,692 6,958
201 Ler23| 13,550 8,692 4,858
01 AtR22lH| 12,600 8,692 3,908
OAtS2tel | 12,600
=33 g3 29| 2,000,000& * 14 2,000
os5353 Il=Hl X
400,000 * 141S5 3 5,600
oMEHAAN FANESF  5,000,0008 * 14 5,000
03 At 950 0 950
O A2 Z I 950
CTAR 2O HISHE QT U s
950,000 * 14 950
202 44| 5,000 5,000 0
01 =LHOA b 5,000 5,000 0
Os&3l &Jtodl 500,000& * 10JH=S& 3l 5,000
301 LEtEAZ 2,100 0 2,100
10 At HIE4& 3 2,100 0 2,100
OZ A= S22 HsUsl &ItA4 =4
7,000& = 300 2,100
S22 =SIME 29 1,550,000 1,500,000 50,000
201 et H| 1,550,000 0 1,550,000
01 AtR2t2lH| 1,550,000 0 1,550,000
OAtR 22|l 1,550,000
ocHEAESIMNE AldHZBHI
1,000,000& * 1,550 1,550,000
TGRS 12,341 19,900 AT,559
101 Ql244| 12,341 14,400 22,059
04 JIZtHZ22XSE+ 12,341 14,400 A2,059
OFUWAY JI2tHl 22X B 12,341
SPIEt= 43,0003 » 1% = 230 9,890
oxgd 43,0003 + 19 = 46 1,978
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A= BN SN EIXD
B gl NBESI| X4
el M=K B (9l &2
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
NP 43,0008 * 198 112 473
T TAEY BY 15,960 23,960 8,000
201 Lsr2 | 15,960 23,960 £8,000
01 At 15,960 23,960 £8,000
osy+g 3,960
oL@ATI2AY 330,008 + 1Y * 128 3,960
SHIEES=1t] 12,000
oL@ +YE 2,500,000 * 23l 5,000
SN HSUE ALE L JIEE7e
5,000,008 * 14! 5,000
oLARY ER2 KA 2,002 + 1,002 2,000
TLANE 200 Z8I 797,035 512,220 284,815
307 212t01H 797,035 512,220 284,815
05 SI2teIEra 797,035 512,220 284,815
OUOIEES RS e
797,035,000 * 144 797,035
=X W 2P| 17,080 18,500 A1,450
202 01t 4,000 4,000 0
01 2hoit] 4,000 4,000 0
OS4=X=F ofbl 100,008 + 43 « 103l 4,000
203 AR =Y 13,050 14,500 A1,450
03 AIMEZAREHY] 13,050 14,500 A1,450
OYHBY 2L ABEET
13,050,0002 * 14} 13,050
22 AN 72,728 155, 180 £82,450
307 212t01H 72,728 155, 180 £82,452
EEREE 72,728 155, 180 £82,452
OZLAMHZA SO
55,006,498,0002! * 0.132% 72,728
A QARY 1,061,999 1,031,279 30,720
oAt 22 86,980 37,580 49,400
201 L2 81,430 32,030 49,400
01 Al 22l 81,430 32,030 49,400
SHEES=1t] 18,030
CXYTRANSZH (ANHER . BES)
11,430,0008 * 14} 11,430
CONZ2IY SXB4 400,000 + 43 1,600
oSN UM 5,0002 * 30004 1,500
CUSF WIME 80021 * 62501 500
CHHIPENME 500,0002! * 23] 1,000
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SERE TR A EENAD
B 808 NRE)| X4
ol ATZAC QA2 (29 22)
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
== ° T iy o L) ° T NS oS =5 &= 04| AFOH U=sa
o RI|HAZZ2A AANZZ BRI E 44|
500,000& * 43| 2,000
ozgd=+¢ 4,200
SONSIRS B Lg
70,0003 = 5% = 123] 4,200
Oogxz 59,200
oMAIN(EZY L ) 2)FHAXNEHYI
600,000& » 8% = 121 & 57,600
S QAN A A Y| 50,000& » 8 * 43| 1,600
202 44| 4,500 4,500 0
01 =LHOA b 4,500 4,500 0
OoAMER BS&Y ¢l
100,000& * 5% » 9 4,500
301 et A3 1,050 1,050 0
10 HALAHIEAZ 1,050 1,050 0
OXNL=2E MWEAE ZHENH/E S4lH|
5,000& » 7& = 34 x10Y 1,050
S22 ARuU=E =d 443,000 538,000 295,000
201 2EtE3| 135,000 155,000 A 20,000
01 AtR2t2ldl 135,000 155,000 220,000
Oger=24| 135,000
CXNRAEZUWE REZ 300,000& = 4509 135,000
202 O Hl 260,000 357,000 297,000
01 =LA b 200,000 297,000 A97,000
OXREEZNE 200,000& * 1,0004 200,000
04 =Nt bl 60,000 60,000 0
O=2ns0| 60,000
oA HME = W0l
5,000,000& = 4% 20,000
CHIMEZIUE =2uWFEHUI
4,000,000& * 10¥ 40,000
301 et A3 48,000 26,000 22,000
12 J|EtE &= 48,000 26,000 22,000
OkXlRgE E2NNE nssga3
200,000 * 30 6,000
O ARYE EE80UE N0
1,400,000& » 309H 42,000
SIMHB SRR QA2 26,000 16,900 9,100
201 et9H| 8,000 8,900 A900
01 AbR2t2lH| 8,000 8,900 A900
Ogbr=Z2H| 8,000
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A= BHN VR SN BN
M g|a NYELI| E4
Sl HDBHC QARY (25l &2
_ HE T
A= 2M -3 - SAEH) - MRAY - BES Off &F K Ofl At ot Hws2
CEUMHA SETY(RAUE)
2,000,0008 * 14! 2,000
CENN BRI M 200,008 * 302 6,000
303 EaZ 18,000 8,000 10,000
01 T4 18,000 8,000 10,000
OSIAZRR J|EE 600,008 * 30% 18,000
JIAHIRT Y 332,619 332,619 0
101 2124l 332,619 332,619 0
04 JIAH2EZXHES4 332,619 332,619 0
OAIEE2 ¥ 223 332,619,008 « 1A 332,619
Moz X2 173,400 102,000 71,400
101 124l 173,400 102,000 71,400
04 JIZH22HSES 173,400 102,000 71,400
OSA(SONTM o1 21zl
850,008 * 179 * 122 173,400
ANZEO S0 2 XIS P25 1,927,697 3,473,735 A1,546,038
= 6.877
= 24,000
Al 1,896,820
URANF2Y 170,800 1,924,535 ~1,783,735
deANTSY 2P 135,800 208,000 A72,200
202 Oit] 0,000 10,000 0
01 =2Uoibl 10,000 10,000 0
OZRIAIE SF0{Hl 100,008 * 10 + 108 10,000
203 R =Y 125,800 198,000 A72,200
03 AR =R =AY 125,800 198,000 A72,200
OFQAFUYSTAILET (AIF)
83,800,0002! * 14! 88,800
OAMBAIZER (SAIZ) 21,000,008 * 14 21,000
OZBNH2Y(2X) 6,000,002 * 14} 16,000
ANZAIS 22 Qe 35,000 35,000 0
201 LByl 29,000 29,000 0
01 At 29,000 29,000 0
OsragY| 28,000
CXADNYTH P
7,002 * 1002 * 102 7,000
oX ARAH ME 10,0008 * 1,400 14,000
SABAIM E22 HX 1,008 * 2,00004 2,000
CYE LU BAHSY ME
10,0002 +100K * 25| 2,000
CUHPAZY £42 100,008 * 20E K| 2,000
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SERE TR A EENAD
mau: AR S0 Y NTAA
ool eSS (9 &
A, o X . ClO (5 B ALO, . HAM 2 Al OH HEE =2}
oAEZUA 9 HE 100,000 = 100K 1,000
o2g=¢ 1,000
CTUSHEHIMNOYY BHAY
100,000 = 10 1,000
301 LEtEAZ 6,000 6,000 0
10 HALAHIZEA S 6,000 6,000 0
OF2ANEEIIH 29 120,000& * 50 6,000
OlSEraEel &0 AIE 202,300 182,300 20,000
Ol SEHE A& 202,300 182,300 20,000
201 LBt 7,800 7,800 0
01 AtS2t2ldl 7,800 7,800 0
Oger=ZH| 7,800
o0l8E d2=& HAEHl 11,000& * 5002 5,500
o0& Z HMEH 1,000& * 5000H 500
o0|SEtd E&EZE M-l 15,0003 = 12004 1,800
301 LEtEAZ 154,500 126,500 28,000
02 ZetgLstita 72,000 48,000 24,000
OO0l SEtE XA &Ea 3
300,000& * 60 = 43| 72,000
10 SALAHIEAZ 67,500 63,500 4,000
O ALAIHl 242 67,500
o0|SeEU2 =AY 7,000& * 3,500 24,500
o(0|SeE s=EIE W= 100,000& * 150¥ 15,000
SOISHUE MAX A%t
200,000& * 70 = 23| 28,000
12 JIEt2 43 15,000 15,000 0
Oolsed sdai2d 15,000,000& * 14 15,000
307 QI2tol™ 40,000 48,000 A8,000
04 CIZFHAE X 40,000 48,000 A 8,000
OO0l Set& &0t U3 25,000,000 * 14 25,000
Ooolsgr&storstHal(=Usl)
15,000,000& * 14 15,000
QIZHEHH A EEH XA 398,300 404,000 A5,700
& 24,000
Al 374,300
MR 2AE 29 204,300 227,000 A22,700
307 2I2t0l™ 204,300 227,000 A22,700
03 ARIEHMEXS 204,300 227,000 A22,700
OArSI &l XI& 204,300,000 * 14 204,300
It sA X 76,000 72,000 4,000
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A2 BEXAD M BINAD
BE: ANZEO 2O L GAAZ S
CHol: PIZICHR AR & 01X 2 CEERE
) _ . e ~
A 2A BB S(BH) - HRAMY - B Y2 O &t o4 Sl e HREZ
301 et as 10,000 10,000 0
10 SAAHIEA S 10,000 10,000 0
OMOIEXNEX B X2
100,000& = 100 10,000
307 S12t01& 66,000 62,000 4,000
04 BIZHHAIE X 66,000 62,000 4,000
ORIZFHAIE = 66,000
oMOSXEX H=0Ha EX
4,000,000& * 14! 4,000
S MOIE NSRBI H SRSl BX
8,000,000& = 14l 8,000
cH2NAIeS M2UE X
4,000,000& = 14l 4,000
CBR NREAY AR}
20,000,000 * 14 20,000
o3HE NMEAMEZEX  30,000,000& * 14 30,000
CHEALE X =l 28,000 15,000 13,000
307 QI2+0I A 28,000 15,000 13,000
04 CIZFSHALE X 28,000 15,000 13,000
OUEAMARX =d 4,000,000& = 14l 4,000
OUEALHAIZ XA 8,000,000& = 14l 8,000
oot et2dst ALK 16,000,000& * 14 16,000
6.258 &8 |RIA XN 12,000 12,000 0
307 SI2t0I& 12,000 12,000 0
02 BltANEX 12,000 12,000 0
06.25&8 ™ 23 Xtel X& 12,000,000 * 14 12,000
HELIGHA XN2HEH 29 30,000 30,000 0
307 GIZ2toI A 30,000 30,000 0
02 BIHANEX 30,000 30,000 0
OYXIIHARNALH 2
30,000,000& * 14 30,000
MOEXEA HH &= X 48,000 48,000 0
& 24,000
Al 24,000
301 Et2A = 48,000 48,000 0
= 24,000
Al 24,000
02 Zet=s4dstit=s 48,000 48,000 0
OMOIEXER MAZSS Ne
48,000,000 = 14 48,000
& 24,000
Al 24,000




A2 MAR AR SA
M AEEN 20 2 NXSS2S
el Z=OIXFX| A2kAs5t G M)
B _ FSIER= —~
Al 2N -3 - SHA(SAH) - MEAE - BHH oﬁwa =2
OIXFX 2235t 1,050,920 823,640 227,280
ZOITXIME 8% 2 29 502,500 353,000 149,500
201 LBt Y] 271,000 306,000 235,000
01 AL 22IH 253,000 288,000 A35,000
OLbt2H) 253,000
o FOIXXIME 22|
900,0002 * 15JHA * 12€ 162,000
oZ0IRXISAE =<
20,0002 * 259 » 15004 » 90,000
oAZE HAESERY 1,000,00084 * 14l 1,000
02 222%H] 18,000 18,000 0
OF0RXIHE 2229
100,000 * 1504 * 129 18,000
301 Y A2 69,000 32,000 37,000
10 SAAHIE A2 29,000 28,000 1,000
OB AtAIHI E A2 29,000
o FOIRXIME HM2E2E &I}
1,000,000 * 1690 A 16,000
oZ0IXXISY WEEIL o
100,000 * 100 10,000
oSote] ZHUE EHIHNE)
100,000 * 30Y 3,000
12 JIEIB A= 40,000 4,000 36,000
OFOIXXIME KHEAK A
10,0008 » 202 = 150HA * 128’ 36,000
OFIRXIME SEBIF A4
2,000,000 Al 2,000
OFURNXALY A%DNE 2AIE
2,000,000¢ Al 2,000
307 QI2+0| A 12,500 15,000 22,500
04 SIFSHAIE X 12,500 15,000 A2,500
ORI AIE X 12,500
OZOINKMEHLES LU AFKF A
12,500,000 Al 12,500
401 Al&HIL 0] 100,000 0 100,000
01 Al&H] 100,000 0 100,000
OF0IXXILE 21222 100,000,000 Al 100,000
405 XHAHE SHI 50,000 0 50,000
01 AHAUSEFSH| 50,000 0 50,000
OFQIRXIAEH &7 50,000,000 Al 50,000
BEANS| HOIAMY XIS 300,000 300,000 0
401 AlEHIL 20 300,000 300,000 0




0z N>
-

D HEXNE=

DATEO SO Y XYY
DEOIRA

S DS (EH) - NEAY - BAS b HInE
ol &t o
01 Al&HI 300,000 300,000 0
OBtA s H42AH 300,000,000& * 14 300,000
ALYl X 139,700 82,200 57,500
301 et A3 120,200 77,200 43,000
04 X328 a=2gl 120,200 77,200 43,000
OXsY8EUa o2tz
1,400 = 5% * 244CH = 275 46,200
OXrsg8ll MteEFsXl
200,000& * 24JHCH * 12& 57,600
OXEsSYEHH 29|
50,000 * 240HCH = 12& 14,400
OXsYEHUI AESE 2,000& * 1,000 2,000
307 BI2t0| ™ 4,500 5,000 A500
04 CIZFHAE X 4,500 5,000 A500
OXsg8ll dEMd= 4,500,000 * 14 4,500
402 DIt X =01 N 15,000 0 15,000
01 SI2t =2 X 15,000 0 15,000
OXs<8Ell &+ 15,000,000& = 1CH 15,000
Hzoe v X ¥ 29 108,720 88,440 20,280
201 LBty 88,720 88,440 280
02 =323l 88,720 88,440 280
O0322= % HA 88,720
o "X HlgccTVE g 88,000,000& * 14 88,000
SNSARA HHAIE 23|
60,000& = 1201 & 720
401 AEHIZ2Ob] 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OAl&Hl & 204l 20,000
o(CCTV RAE =+ 20,000,000& * 14 20,000
HAH el & A7 6,877 6,760 117
= 6,877
2K S 3 T o XX & 6,877 0 6,877
= 6,877
101 eld| 5,477 0 5,477
= 5,477
04 JIZtMZ22XNsSEx 5,477 0 5,477
Of=Z23 E8REX 5,477,000& * 14 5,477
= 5,477
201 2EtE3| 1,000 0 1,000
= 1,000
01 AtR22lH| 1,000 0 1,000
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A= IR SN EIXAD
o AZEO S YL NXATYS
SRl DA Hel 2 WARY (el &2
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
OFIZ2 Z8+8% A28E7Y
1,000,0008 * 14] 1,000
2 1,000
202 01t 400 0 400
2 400
01 2hoit] 400 0 400
OAZZ UFOHY O1H|
20,0008 * 28 * 10 400
2 400
3ol Ag 2y3 98,500 132,500 34,000
Bolag oy 74,400 101,400 A27,000
201 L2y 74,400 101,400 A27,000
01 AR eIl 74,400 101,400 A27,000
OLIETE-= 1 6,000
CNEVHYALSERY 100,008 * 203] 2,000
cDE2Y FHY ME 200,008 * 203] 4,000
L EETH 51,000
oHOASABYS(ER)DS
340,0002 * 150% 51,000
o2g+y 17,400
c225Y AME 2,000,000¢! * 63l 12,000
CHRNSHARS] a4 200,008 * 7% 1,400
CHOMSSHNSAAE
2,000,000% * 23l 4,000
golag 243 2YF| 4,000 4,000 0
202 01t 4,000 4,000 0
01 2UhoiH| 4,000 4,000 0
Ozoa o1t
200,000 * 28 * 103 4,000
DAEHY Y 10,000 4,000 6,000
201 Y2y 4,000 4,000 0
01 AR 2el 4,000 4,000 0
ocsgie = 4,000,008 14! 4,000
301 YprB A 6,000 0 6,000
10 AL 6,000 0 6,000
OES-1-18 6,000,008 * 14! 6,000
HHAHA BIE 7,500 7,500 0
201 Lur2y 7,500 7,500 0
01 ALR2el 7,500 7,500 0
ogsi+gHY 7,500
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e TN SN BN
o AZEO S XXl o2 2t
L @ol 4B sl @)
o o (5 - 3 HEAC =
SN EB SR NRAY - BES o i =
CHINUIASY 2018 432 24
500,0002 * 144 500
S 1~ 222 HME
7,000,008 * 1Al 7,000
=P eI S8y 2P| 2,600 2,600 0
202 0it] 2,600 2,600 0
01 2UhoiHl 2,600 2,600 0
OCSH I Y REX 30,0009 * 2 * 103] 2,600
HHESAZH (HZ LD 12,702,645 12,511,604 190,951
=2 (BT) 2,529,290 12,284,834 244,456
QI 22 I A N 1,190,221 1,087,364 102,857
101 2124l 1,190,221 1,087,364 102,857
03 RIIHA2ERE 4 1,190,221 1,087,364 102,857
OSIIAHA22T Q12| 1,190,221
ollEa 574,945
RIS 085,925% * 128 * 358 414,089
LR 1,180,8502 * 128 * 8% 113,362
X oiols 1,319,2758 * 128 * 3 47,494
SE 191,650
RS 985,925% * 400% * 353 138,030
st 1,180,8502 * 400% * 8% 37,768
Zofols 1,319,275%0 * 400% * 3% 15,832
SEEESL] 57,496
HBHSBE 9859259 * 60% * 28] * 36 41,409
HIyLe
1,180,8502 * 60% * 25| * 8% 11,337
ool
1,319,275% * 60% * 23| * 3% 4,750
P 20,775
EE S 42,9929 + 102 * 358 15,048
B 50,5628 * 102 * 8% 4,047
zeols 55,9728 + 102 * 3% 1,680
oA 224 85,829
EEEES
8,061 * 35% » 15A12¢ = 124 50,785
I
9.4848 * BY * 36AI2t = 1202 32,777
ool
10,4958 * 3% * 6AI2} » 1202 2,267
o RIANAER SAIH|
30,0002 * 1242 * 46% 71,760
R0z REZ(2BSLY 40,314
QIINUF22R 895,851,008 * 4.5% 40,314
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0z N>
-

ax SN EEI
e
=2
= Sl (B1H) - MISAY - B S e
10,0008 * 403] 4,000
5,560,000& * 14 5,560
17,640
2o o as )
7,000& = 210Y x 128 17,640
202 14,800 14,800
01 = 14,800 14,800
£ 14,800,000& = 14 14,800
203 ]l 127,355 176,360
01 A=A 89,430 138,600
SAALFTZRI(AIE) 47,520,000 * 14! 47,520
2A2AUUDEA(RAIH)
39,270,000& * 14 39,270
HA2=X(22) 2,640,000 » 14! 2,640
02 S x| 33,365 33,140
HRFX 33,365
Xl 80,000& = 1009 8,000
=p)] 60,000& + 2009 12,000
= 45,0003 * 2974 13,365
04 Sxx 4,560 4,620
HAPE 4,560,000 * 14 4,560
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=: HEXNE= 2A  AE
XH
2H

o NeEM=ZSH (cte: =<

e
22N ZY - S(EH) - MRAY - BES 0f et o e DS
23 790,383 763,422 26,961

= 8,128
Al 782,255
N===5 747,503 720,422 27,081
= 8,128
Al 739,375
NP Bl 481,384 476,446 4,938
= 8,128
Al 473,256
ANZA L M= 20t 223,361 202,775 20,586
101 Q14| 10,476 8,980 1,496
04 JIZAHZ2NHESE= 10,476 8,980 1,496
OXsIt . .SEM B2E2x K& 10,476
olles 36,500% * 13 = 2302 8,395
oxgd 36,500 * 18 » 462 1,679
o ARt 36,500 = 1&8 » 11 402
201 LEt=EH| 212,885 176,295 36,590
01 At22t2lH 83,230 73,640 9,590
Oget+=2H| 73,500
o XAl EAlLDXA 60,0002 * 5509 A 33,000
oKYM M SFELXNA
60,000& * 1002rA 6,000
oMol EAIXA 60,0003 * 509 A 3,000
ocEHEEE ASFEMAE  150& * 20,00004 3,000
o= OIMESHARSH
16,000,000& * 14! 16,000
oKYM 28 &% MH
2,500,000& = 53] 12,500
o=2g=+d 9,730
oXlgNaAES 70,0008 * 18F * 52 6,300
IR HARIEE 70,0008 » 14% * 13 980
octlldggsrRd UA=s 350,000 = 7 2,450
02 S52H| 129,655 102,655 27,000
O3&2= ¥ HA 129,655
o XN ALS(2EH
250% = 363,000& * 13 90,750
SXLMIXNLES(E0!)
1,7508 = 15,0008 * 13l 26,250
<JIEH DAMES(SI)
1,7508 * 2,000 * 13 3,500
cIHEFEIIASNZ2 &5
250% * 34,6208 8,655
ogt=XgNEs 3l 500,000& * 14 500
NgA 2 Alelag T2 X124 119,316 116,786 2,530
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NEE ! S HED
M NAES
WE EE=1u] (c+9: &
_ _ _ HEc
AN - A3 A2 (SH) - HIEAIE - HAEZ (] AFoH oﬂ/'\_rOH Hns2
- 8,128
Al 111,188
SIETEX=T 57,660 54,360 3,300
01 AFR22IH 57,660 54,360 3,300
ODXNANEEI SXEL 280,000 * 123 3,360
ODSTRIEI SNE2 970,000 * 123 11,640
ORNYMAEH L HYLUMHH SX B2
2,059,0008 * 123 24,708
OlNSEBIS 22| SN RNEL
373,0008 * 123 4,476
ODHIY HILBRIAIAE W SR BA
640,0008 * 123 7,680
OJAHFAIAY X B2 208,0008 * 123 2,496
OHSXSLHSE AXAIAL SW SR B2
330,000 * 103 3,300
403 RXISHHER=20|H 61,656 62,426 ATT0
= 8,128
Al 53,528
DI 2SOl CHBHCH 8 AFRI b 61,656 62,426 ATT0
OEZ=XUA HBAAL QX 22
27,700,00080 * 14! 27,700
OSB LN BHEAAE QX 22
5,700,000 * 14l 5,700
OHNSIAQ HBAAE SR 22|
12,000,0008 = 14l 12,000
OMQ2el HEAAL DEs =X ALY
16,256,00090 * 14! 16,256
= 8,128
Al 8,128
HNass 107,357 125,285 A17,928
o2 oy 107,357 105,285 2,072
01 AL 22IH 14,372 15,300 A928
OustA Y 14,372
oL BTA ZOHR 2| 500,000 * 1524 7,500
CBSANE U UAZEALAD
3,0008! * 1,600 4,800
oYX 2EHEME222
2,072,0008 * 14! 2,072
02 2229 92,985 89,985 3,000
OZZQ2UAA 89,985
o222 89,985
JIEI DA S (SII)
1,7502 * 1,300 13 2,275
SERY (UL
2502 * 10,000 * 63l 15,000
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SR IEE SAHED
Mo NLsE
ol XNeA==SH (9 E2
NI X EH . ClO (5 S AL . HA 2 Al OH HEE =2}
E=zws(s0))
1,750&  300& * 43| 2,100
Mg ORIMES(LE
2502 * 65,000 * 42| 65,000
XM EE (Y
2508 = 8,5008 * 23l 4,250
DU NS ESHAUE LS
2503 * 2,000& * 23| 1,000
REXNHSBATITY HSOIAAAE O
sdg SN2 30,000& * 123] 360
OXtg . &EH| 3,000
oMY XY AXNIMAIALH ST E ()
3,000,000& * 1A 3,000
NEN=SUHAYE 2ZZ bl 31,350 31,600 A 250
202 O4dl 29,100 29,100 0
01 =LHA b 29,100 29,100 0
OMSRES=AF Ol 200,000& = 3% = 83| 4,800
OH2ZM(tHg=+8) MAXSE 2 A o
150,000 * 2% 132l 3,900
Oz M HAXES A ol
150,000& * 29 =« 283l 8,400
O2e NHENGA 2+ & SH ¢l
250,000& * 498 * 113l 11,000
OMEXte Mg AdIAXE HSEAX 0]
10,0002 * 2% = 503 1,000
203 €2 F&d| 2,250 2,500 A 250
03 AIMFEAHRFEH| 2,250 2,500 A250
OXNLM=ZSHAHZ=Z 2,250,000 » 14 2,250
WHXZ SHEERA 127,723 128,780 A1,057
NEFEHEL L HAES A 111,528 112,580 A 1,057
101 eIl 37,523 36,580 943
04 JIZtHIZ2Z2HEE+ 37,528 36,580 943
OMNEFEINAIA HREX 10,476
SPIEt= 36,5002 * 1% = 230 8,395
o (FF AR+ ELE)
36,5003 * 19 * 57 2,081
ONEFEIATAI GREX(SHS ) 27,047
SRt 36,500& * 50 * 13Y 23,725
oFFH 36,500& = 72 * 139 3,322
201 LEt23| 74,000 76,000 A2,000
01 AbR22lH| 74,000 76,000 A2,000
OFEINBXZA dS+=+2 74,000,000 14! 74,000
Eze HREFA 5,700 5,700 0
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A= HEXEA=R SN T MED
SR EpTpe
AR E ©E A AR
=2 =] X XH Ctol (S (=} A Ve S == AFOH X‘—-IL‘E—“:— ot
201 LBt A 5,700 5,700 0
01 AtE222|H] 5,700 5,700 0
Ogt=ZH| 2,900
o RESAEIIRRAS 3SMF 1A
500,000& * 43| 2,000
cARBE S 900,000& * 14 900
Oo2g=¢% 2,800
oRZAEIIRRE 70,0003 * 10¥ * 23] 1,400
o XML EARAS
70,000& = 1098 * 23| 1,400
HAXNE HEZAL 2E3H| 10,500 10,500 0
202 04 Hl 10,500 10,500 0
01 =Y 10,500 10,500 0
OX A DAIXZ Z A (8]
140,000& = 159 * 53] 10,500
KAl HOl A2 138,396 115,196 23,200
QIFEONE = 138,396 115,196 23,200
201 LBt A 138,396 115,196 23,200
01 AtE222|Hl 138,396 115,196 23,200
ONEN AU 442
2,000,000& * 42| 8,000
OHI+Y FSteys +48
500,000& * 43| 2,000
OXZAM XA=sO0lM 2E++2 66,0008 * 63l 396
OXNZAM IEZM =2
5,300,000,000& * 2% 106,000
QM2+ IIEZM =2
8,000,000 = 14 8,000
OXEA Jt&AHH G222
80& * 112,500 9,000
OMZEE =22 5,000,000& * 14l 5,000
HY2AHH (ME ) 42,880 43,000 A 120
Jl2Z&Hl 42,880 43,000 A 120
Jl2&Z | 42,880 43,000 A 120
201 LEt243d| 24,500 24,500 0
01 AtE22|Hl 24,500 24,500 0
Oget=gH| 14,000
cHFANREEH| 3,000,000& = 14 3,000
o HEH|=2ltl 4,000,000& * 14 4,000
=J|Et==&H| 3,000,000& * 14 3,000
oXlgAZA EHFY 3,000,000& * 14 3,000
SHER=Z 150,000& = 43| 600
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SR F DR SA 30 D
A A
crel: =gE Bdae 2 (ee: 82
A2 =2 MBS (T H) - NBEAY - BHA2 0] AFoH S H m=2
== ° T S U T . TN S 2SS A= 04| AFOH W=sa
512 57,133,727 57,707,572 A573,845
W X 504,526 503,640 886
Sgs gae 2d 504,526 503,640 886
NEZM o =42 62 29 35,526 35,300 226
201 Yyt 35,526 35,300 226
01 At 22l 35,526 35,300 226
O gereg| 35,526
cHNSAUS| BEMF ol
22,5002 * 400 9,000
SENE LI E R
70,0002 * 4% * 202 5,600
SBOIB|HA HREDA BERS
15,000,002 * 14! 15,000
oTHREDA &2t 5,926,0008 * 14| 5,926
58 HAHE 2 25,340 27,080 A1,740
201 Lere | 25,340 21,080 4,260
02 S22 25,340 21,080 4,260
O gur2a| 25,340
SURIRE 018442 20,0008 * 4003 8,000
oJotp2 T2 Y RN 24
670,0008 * 122 8,040
oMol G HArY
70,0002 * 103] » 9% 6,300
ORFID BT A BRI AR ST 4
500,0008 * 62 3,000
NE L =249 2H2| 5,900 5,900 0
202 01H 5,900 5,900 0
01 2ol 5,900 5,900 0
OXEY =ARII2g oYl
5,900,000% * 14! 5,900
SHUR(NL) SN 437,760 435,360 2,400
204 X2L#AY| 437,760 435,360 2,400
03 SHEALAH| 437,760 435,360 2,400
OLNLLB LA (520/3)
80,0002 » 7% x 128 6.720
oHeggyz2e 67,200
SAZ2H (53015 100,0002 * 33 « 12 39,600
8. 2. 5(62013)
10,0008 * 232 « 128 27,600
Ol st 228 (52 015t)
150,0008 * 6% * 128 10,800
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A= HEXE= M 3 H D
& WE X
ool EgiE 3e 2 (et & 2
AR RN EY . OR(E) - MRAY - B 0] & e HlDE2
OZRASHLL DR
60,0002 * 2% = 123 1,440
OES=gdEI32A  100,0008 = 19 « 12& 1,200
otggsgl(6=20lat)
50,0003 * 584K = 123 350,400
ALY THAH2 S 7,083,144 8,913,917 21,830,773
SEXY & ZESF 2al 201,042 367,341 2 166,299
IENHE E 2E SFNES 170,642 261,941 291,299
201 LBt 167,672 173,441 Ab5,769
01 AtS2t2ldl 25,750 35,655 A 9,905
Oget=ZH| 5,750
oltsxd A& 25,000& * 30CH 750
cNEEZ SHIE 2 50,0008 * 10004 5,000
OZBXHE Xz 20,000
oSt 600,000& * 2CH * 10& 12,000
ocU=s&EsEX 400,000& * 2CH = 103 8,000
02 23234l 141,922 137,786 4,136
O332ZHl 141,922
o Xt= XHAl 197,400& = 310K 6,120
odRI BHIMERLES
63,0002 * 31CH * 23| 3,906
oXtsxt 283 330,000& = 31CH 10,230
oXHRFH &L 4|
121,665,600& * 14 121,666
206 M=l 2,970 61,900 A58,930
01 M=H| 2,970 61,900 58,930
OMZ | 2,970
octd i1 ¢ 1,000& * 2703 270
o2l ¢ 1,000& * 1,600& 1,600
oXtHM 2 1,000& * 1,100& 1,100
SEIIAL AR E 4,400 4,400 0
201 LBt23H| 3,000 3,000 0
03 dAI2ZHI 3,000 3,000 0
O A2 Z I 3,000
SIIMMEFUS AAE 300,000& * 108 3,000
301 LetEa 3 1,400 1,400 0
10 SALAHIEA = 1,400 1,400 0
O EAIAHIEAZ 1,400
SIIAMEUSE (O1F) S4AH
7,000& = 200 1,400
= OA R 20,000 95,000 AT75,000
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0z N>
J2

28N MM O(EH) - MEAY - BHAS Al OH &EIE H =2
= = iy o L) ° TNs a3 &= 04| AFOH U=sa
405 Kot S| 20,000 95,000 275,000
01 XL 2EFSHI 20,000 95,000 AT75,000
OLEX& A 20,000,000& * 14 20,000
SENHE X BE2SE 293l 6,000 6,000 0
202 O H| 6,000 6,000 0
01 =ZLHA I 6,000 6,000 0
O HLHREFAY 2HIAL S2H Y]
20,0002 * 421 * 753 6,000
SFIHA 2el 2,625,707 4,364,500 A 1,738,793
= - 3SMA sE22 2,622,707 4,361,500 A 1,738,793
101 Ql244| 10,836 10,000 836
04 JIZtHZ22XNSE+ 10,836 10,000 836
OZBFMAMAEHEZAIRE 212 10,836
SPIEt= 43,0003 = 1% * 200 8,600
oxgd 43,0003 * 19 = 42 1,806
oAXtg 43,0003 + 19 = 10 430
201 et29H| 48,000 101,500 253,500
01 AbR2t2ld| 48,000 101,500 53,500
Oger23 | 48,000
oSl 25,0003 = 60E Xl 1,500
oEHrg 22,500,000& * 14 22,500
ocZ¥E I3 250,000& * 4821 * 2J4 A 24,000
401 AIEHIZ 20 2,543,871 4,250,000 21,706,129
01 Al&HI 2,543,871 4,250,000 A 1,706,129
OAI&HI 22U 2,543,871
o CH &l JH AFE X0 & HI
2,493,871,000& * 14 2,493,871
oANFditdE B+ 50,000,000& * 14 50,000
405 Kot S| 20,000 0 20,000
01 XYL 2EFSHI 20,000 0 20,000
OXMLEEFHSHI 20,000
o . EFMA EXNRI 2E/AAE A5
20,000,000& * 14 20,000
Matzte| 223l 3,000 3,000 0
202 O I 3,000 3,000 0
01 =LA bI 3,000 3,000 0
Oyl 3,000
oMat2e|ERF=E bl
20,0003 = 121 = 150! 3,000
SHAL S0t 1,960,000 2,000,000 A 40,000
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0z N>
J2

N-E3H S (2H) - MRAY - BES

22

20
B
2

s 2S5 1,960,000 2,000,000
401 AlEHI LS HH 1,960,000 2,000,000
Al HI 1,960,000 1,920,000
OBYS FOMEH &= 2X Y
1,180,000,000& * 14 1,180,000
OZYS FOUME AFZA
600,000,000& = 14| 600,000
OX2x SNKHEH SLIEX
180,000,000 * 14! 180,000
=29 2,296,395 2,182,076
EAAIE 2 2,103,195 1,894,076
eials] 20,370 20,000
IRAM2ERSES 20,370 20,000
OJIAHZZ2REES 20,370
o™ At E 2t 67,9008 = 30F » 10% 20,370
Lot2 A 1,583,377 1,415,924
AtR22telH 113,129 120,450
Ot 103,119
CHABE L ASTH
375,000 * 105 * 82l 30,000
CHABHLAL (L. H4X) HAE
2,500,000& * 23 5,000
ocHAMESE HAE 6,000,000& * 14! 6,000
cHAMASE 70& = 36,200m" * 63 15,204
CHALYANL BELLE
9,334,000& * 13l 9,334
CHASLIIFIIAA 242
200,000& = 6CH 1,200
SHALYAL (LS ZAASE
4,00080 * 174.36RT * 2CH 1,395
CHAHAIL (2L )HALLE
200,000& * 7OH 1,400
SEA HANE(SANM)BR222
500,000& = 12l 500
SHAFIIANL BE 448
1,500& = 5,300KW = 13/ 7,950
oA AME BYLLE
200& * 37,840m" * 23| 15,136
SHA JASH BAIBHAAMLSE
2,000,000& * 504 10,000
O/ u=| 3,900
oXI|.JtA HIINS S
300,000& = 13& * 12/ 3,900
o=l 1,000
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HYXE= A A

DEANY Heed
o

N 3 (el &2
CEN LS (BH) - MBEAY - B Ofl A o4 gggf; HRS2
o [BSAl SHYUZRX =22=
100,000& * 10 = 13| 1,000
O3 &l 5,110
o |BSA&! =AlH| 7,000 * 2% x 3652 5,110
02 s=s29H| 1,470,248 1,295,474 174,774
OZ2Z222YAHA 830,652
oA Hlg 30,000,000& = 123] 360,000
CHA MBIHEER
1,100& * 2,500m = 123 33,000
o AP W LHEH(OIA) 13,000,000& * 123] 156,000
o AYOtME Y| 800,000& = 13| 800
CASEHINHEEZS 3,000,000& * 23] 6,000
oliERIH(AS . ANES. A M)
430,000& * 338 145,340
ool & S H 3 I 1,076,000& * 1122 120,512
cHNES/RYURES 4,500,000 * 23] 9,000
OAlE &EHISXHI 639,596
o FHAMNHASFAIYI 1,000& = 37,704m’ 37,704
oA HENANEE RANEx
4,000& = 5,300KW 21,200
oHAI AYUANEE FANES
5,000,000& * 23] 10,000
oXH AL B2 (AL H=Z) SXNES
3,000,000& * 33 9,000
osd)| AN Y
2,000,000& = 123] 24,000
obgigtate 54 450,000& * 123] 5,400
o HACCTVE A2 %= 1,000,000& * 5CH 5,000
oFAI S ZAH| Hi& ¥ SAEX (2
S|, 22E9) 2,500,000& * 2 5,000
oA ZIIHSIANE SN2 (2H)
5,000,000& * 23] 10,000
oHAF IBSEHl X2 1,000,000& = 50H 5,000
o AHAEFAIYI 700,000& * 2= 1,400
ozl RANEF 400,000& = 5CH 2,000
oc2UJIH - XH SAES
2,000,000& * 14 2,000
oXHAEA PEZ2IHl  456,292,000& * 14 456,292
o &AL IBSAIAE 2A2|E2A
2,500,000& * 123] 30,000
oA IS FAES
80,000& * 355 x 23] 5,600
oFHAI HsI| &l 5,000,000& * 2CH 10,000
206 T2 Hl 113,152 110, 152 3,000
01 M=Hl 113, 152 110, 152 3,000
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=: HEXNE= A A

2 ALY a2

el A2 - 29 (etel: =3
MR- FH-E(BN) - R - BaS 01 &t o8 e HlRE2
OEMEXES M=l 113,152
oWAEASH  5,0008 * 2004 * 2CH * 23] 4,000
o=2gd 2N 3,500 * 200 ¢ » 6 4,200
oZdl2 R-22RItA 4,500% » 76kg * 6CH 2,052
oHSF(LLIA3GS) 4,500& * 100 £ » 6CH 2,700
21 Z Xl (DRYER) 50,0008 * 120H 600
ofotol(olgd=ael=2) 1,0008 * 1,000KG 1,000
olBde] 843 1,000& * 1,000KG 1,000
oMAH ExME(ECl4HLUELE)
50,0003 * 5& * 4004 10,000
oS (EZS)40E
1,0002 20 * 5,0000H * 10/100 10,000
coHEI| (g S9205)
20,000& * 208 = 12504 = 20/100 10,000
CEIIMB(HAY SENE)
100,000& * 1003 10,000
oABAMAME (ZXI LESAR)
50,000& = 108 » 308 15,000
SJ|AEH 2. FelA 200,000& = 3& 600
o2gd E2H 4,000& = 1,500 4 6,000
ocHAMEYR OESHACTV B3
1,500,000& * 838 12,000
o=Z0El X F 120,000& * 50H 6,000
oSYI(EHBEE) 108
1,800,000& * 105 18,000
401 A &HIZL 204 326,296 288,000 38,296
01 Al&HI 326,296 288,000 38,296
OFA ANIEE 1,400& * 37,840 52,976
OEAMASI| 2HIE 25,000,000& * 2CH 50,000
OFA HSI| &XNEEI|IL EOCR LAl
2,000,000& * 504 10,000
OFEAMN HSI| WS WX 700,000 * 6CH 4,200
OFAM & e E0 &2 WX
2,000,000&  10CH 20,000
OFEA CCTV =& &Hd| WX
830,000& * 244 A 19,920
O3MN LEF W2+ HES20IZE WX
2,000,000&  5CH 10,000
OBA HE ¥ I =3 24
2,200& * 10,0004 22,000
OXAZIE MES A =
70,000,000& * 14 70,000
OEAMN ¢ &3 Hes £X
900,000& * 8K 7,200
OF AL AFR A OI™ THHH X
50,000,000& * 14 50,000
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SERR T W S B
B MY a2
el Az - 29 (Ere): & 2
- _ _ Muo
A 2N EH S (SH) - MRAY - HES Ofl &k 04 Sl ko HREZ
SECEENEEEIREER
2,000,000& * 504 10,000
405 KH&HEFHSHI 60,000 60,000 0
01 MARESF=H 60,000 60,000 0
OMSY FI| o 2BE2Y
60,000,000& * 1A 60,000
EAAIE SZEHI 37,200 32,000 5,200
206 24| 12,000 2,000 0
01 M=Hl 12,000 12,000 0
OXM =l 12,000
oHAN XF HEH %N PY
200& * 10,000 * 23l 4,000
oFHANLE HE+Y 4002 = 10,0005 4,000
oHA XF(Z) 7Y
400& = 5,000 = 23 4,000
401 Al&HIL2CHY] 25,200 20,000 5,200
01 Al£Hl 25,200 20,000 5,200
OAlZHIZ R0l 25,200
SAEA 2L MREY HEAY
300,000& = 40== 12,000
o AIEA Jt2= WHAIY 330,000& * 40= 13,200
ANl =X 2E 3 6,000 6,000 0
202 Oddl 6,000 6,000 0
01 =LHOYI 6,000 6,000 0
oot 6.000
oFAt2tel =&l 20,0008 * 6¥ » 502 6,000
AL HHXNZS Bletd Hd=xd 150,000 250,000 A 100,000
401 AIEHIZ R0 150,000 250,000 A 100,000
01 A&l 150,000 250,000 100,000
Ok= HEIZ WHSA 50,000,000& =+ 14 50,000
OZXHS(LED) wH SAt 400,000& * 250 100,000
HE2HZHI (3 A ) 48,963,057 47,407,265 1,555,792
IFARAH(BZ) 48,807,057 47,251,325 1,555,732
TR R0I2AY| X 48,807,057 47,251,325 1,555,732
101 1A H] 47,165,577 45,616,865 1,548,712
01 2= 45,195,358 43,704,892 1,490, 466
O)=)= 23,957,771
o28(¢3) 75,303,000& * 1 75,303
=33 (e12) 72,236,002 * 1% 72,236
c43(e12) 66,082,000 + 4% 264,328
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= 2 8D
211 (312
B (&)

.S (B]H) - MBAY - BAS Abol e
obhg 2,961,300 * 53 * 12& 1,883,387
o6z 2,512,100& = 2259 x 12& 6,782,670
o7z 2,028,500& » 237 x 12& 5,769,054
o83 1,385,900& * 181 x 12& 3,010,175
Y= 1,139,200& * 99 * 12& 1,353,370
SWIEES, 4,541,915

= 2,613,600 * 15% * 12& 470,448
= 2,354,800 * 50 * 128 1,412,880
- 82 2,132,000& * 56 = 12& 1,432,704
- 938 1,616,200 * 46Y * 12& 892, 143
10= 1,209,200& * 23Y * 129 333,740
o 72,272
- 62 2,363,000& = 18 = 128 28,356
=2 2,273, 700& ~ 1¥ * 12& 27,285
- 82 1,385,900& *~ 1Y = 12& 16,631
oA 105,785
S 4,072,400% * 1 = 128 48,869
A AL 2,371,500& = 29 = 12& 56,916
SPNE=S] 27,276
INE=PN 2,273,000& ~ 1¥ = 12& 27,276
Oan3 1,962, 159
odZxH 23,545,904,000& = 1/12 1,962, 159
OxU224 o 2,981,658
SSIEEE
7,4573 + 992% * 10AI2+ = 12& 887,682
csg2e 1,860,374
=3 7,457& * 591 = 25A12F = 128 1,322,127
Al - SHE
7,4573 * 4018 = 15A12 = 128 538,247
o2 R+H 19,888% » 2% * 365L 14,519
oxmdIZRY 56,175& = 39Y = 100 219,083
(OFSELES=] 2,940,133
cIIE4Y 910,176
- BH S At 40,000& * 998Y * 0.9 » 128 431,136
SAIt=E
20,000 * 998YH = 2.0 » 12& 479,040
o AEHSHHIBE X 4+H 396,866
- Sstu 51,990& * 998H * 0.3 * 43| 62,264
nssn
419,090& * 998H * 0.2 * 43| 334,602
odMIALHIIAZ  100,000& * 998H * 12& 1,197,600
clezeasy
23,957,771,000& » 4.8% » 35/100 402,491
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= A= A A
M HZ2IZHI(3ADY)
Eel: AHA2EHI(ZZ) (98
22N ZY - S(EH) - MRAY - BES 0f et o e DS
cRHIRASTYH 30,000& * 20 « 128 7,200
ofg 2l 20,040
43 50,000& = 15& = 12& 9,000
=3 40,000& * 23& = 123 11,040
oS A2l 5,760
X (2arH) 30,0008 * 16& * 128 5,760
OS5+ 511,464
SR == 68,280
55014 50,000& = 10& = 12& 6,000
6~7= 30,000& » 123 » 12& 44,280
8= 016t 20,000& » 75& = 12& 18,000
oJlsgesd s 19,200
< JIAH 30,000& * 209 « 128 7,200
AHH DAL 20,000& * 508 = 12& 12,000
ocRHRLE 80,000& » 3H » 12& 2,880
ofg=std e+ 2,160
SOt HE X 30,0008 » 2& » 12 720
SO EXA 30,0008 * 28 * 128 720
flgs 22k 30,0003 2% » 123 720
SRHEXNSH UL FHIYR 29
40,000& = 27 + 128 12,960
ocMMAR Y 6,000
3=0l & 50,000& = 108 » 12H 6,000
S = 20,000& * 4% » 128 960
cllAYERrE 30,000& » 247 » 12& 88,920
oEHES2R=E 70,0008 * 2859 x 12 239,400
oZdsg 5,904
6= 014 40,0003 = 4H = 128 1,920
= 38,000& * 5& » 123 2,280
<= 36,000& 3 » 12& 1,296
= 34,000& » 1€ » 123 408
odddag Ita 47,160
2 240,000& = 13% = 128 37,440
&322 270,000% * 3% » 128 9,720
oMB=XF R+ 30,0008 ~ 498 » 128 17,640
OgHEX=& 1,102,800
ooty 1,265,500& = 10& » 60 759,300
S 1,145,0008 = 5& * 60E 343,500
O HgAHI 130,0008 * 998 * 12& 1,556,880
OusS=E x| 130,000% * 996 * 128 1,553,760
OZESItHl  23,545,904,000& = 1/12  120% 2,354,591
OG 2 atHl
23,957,771,000& = 1/12 = 1/30 = 10 665,494
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CRA - EHE L G(B) - A - BES sk S 2t
0f 4 o8
SEEEET]
23,545,904,000& * 0.167/12 » 12& 3,932,166
OX™ <IN &HI 32,872,181,000& * 0.051 1,676,482
02 JIEtAE = 1,970,219 1,911,973 58,246
OF=3-EN 1,683,457
ollZ2s 968,058
== 2,127,600& = 35% » 12& 893,592
d2=g 893,592,000 * 1/12 74,466
o ItEdE 33,600
- B Xt 40,0002 » 358 = 1.0 = 123 16,800
- 22IE 20,0003 * 3598 * 2.0 + 128 16,800
SPNIEREEa=y 13,919
=& 51,990& » 35% = 0.3 * 43 2,184
S8t 419,003 * 358 * 0.2 * 43| 11,735
o¥I=EItetg 100,000 * 35H « 128 42,000
o= =Y 2,400
gHE 40,000& = 5% » 128 2,400
o AlZ2tel=E
7,4573 = 353 * 35AI2t « 123 109,618
o022 19,888& * 4% » 3652 29,037
o522 RsrY 56,175& * 5% » 83¢ 23,313
o == M| 194,360
ZHg A 130,000& = 35 » 12& 54,600
M= 120,000& = 359 = 123 50,400
YE SO
893,592,000& * 1/12 » 120% 89,360
o2t M
893,592,000& * 1/12 = 1/30 = 10 24,822
o JHH K&l
893,592,000& * 0.167/12 = 12& 149,230
o XA 65,100
el sl 50,000& * 359 * 12& 21,000
HZ B x| 105,0002 » 35% * 123 44,100
o I =H] 400,000 * 352 * 23l 28,000
OX™< I & HI 1,231,470,000& = 0.051 62,805
OHIA 215,047
S R=r= 169,979
CHA LE 53,696,000& » 1% 53,696
A Os 43,884,000& * 1% 43,884
CHE gts 38,501,000& * 1H 38,501
- HE Ot 33,898,000 * 1 33,898
oIt EE 3,840
[N, 40,0003 = 4% = 1.0 » 12& 1,920
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A2 BH D S 8D
M HZ2IZHI(3ADY)
ool R Yul(S) (el & 2
A= RN B SA(SH) - MM - B S 0l &t e DS
CRUIE - 20,0008 « 4F « 2.0 x 128 1,920
oXtHSHIE xS 7,538
im! 51,990& » 4% = 43 832
- nssn 419,00021 * 4% * 43| 6,706
SRR
7,4573 * 48 » 35A12 » 128 12,528
o A S A 130,000& = 49 « 128 6,240
o L2 &M
169,979,000&  1/12 » 1/30 » 10 4,722
oI ESH] 50,000& * 4% » 123 2,400
o X2 | 7,800
CHSH LS 250,000 * 1& * 123 3,000
AR s 155,000 = 1&8 * 128 1,860
- HA ets 140,000 = 18 * 128 1,680
- AR Ot 105,000& = 198 « 128 1,260
OXM2I&HI 174,701,0008 * 0.051 8,910
204 A= HH| 1,641,480 1,634,460 7,020
02 =244 1,641,480 1,634,460 7,020
OAl & 650,000& * 1€ ~ 128 7,800
ORAE 500,000& * 18 * 128 6,000
o= &((42) 400,000& * 49 « 128 19,200
Ob=s 250,000& = 53 « 12 159,000
Ob= 155,000 = 225% = 123 418,500
O7= 140,000 = 237H = 123 398, 160
08~9= 105,000 = 280H = 123 352,800
og—xa 250,000& * 18 « 128 3,000
OH AL 155,000& = 2 « 128 3,720
ORXIEA 155,000& = 1& » 128 1,860
OJlsb= 155,000& = 159 = 123 27,900
Odlsr= 140,000& = 50H = 123 84,000
0J1s8~9= 105,000& = 1022 = 128 128,520
OJ1s10= 95,000& » 23Y « 128 26,220
O8&6=s 155,000& * 198 « 128 1,860
O8&7= 140,000& = 1& * 128 1,680
Og&8= 105,000& = 1& * 128 1,260
Jl=2dH| 156,000 155,940 60
1=l 156,000 155,940 60
201 Bt 20,700 20,700 0
01 AtS 22l 20,700 20,700 0
Ogt=2H| 20,700
cHIANRES 8 200,000& = 128 2,400
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A= BN S 8D
Y HE2HAH (s HD)
&t JI=3l (&9 HM
Al = X XH Ctol (S = (o] HA X A} OH I|_-|L|;=|_l‘:_ =D}
oHFEH AZE FY 100,000 = 12& 1,200
o J|Et =2H| 7,100,000 * 14 7,100
o gAl| 5,000& * 40% = 504 10,000
202 O4dl 9,600 9,600 0
01 =LHA b 9,600 9,600 0
O Jlegedul 9,600,000& * 14 9,600
203 HRF&H| 4,740 4,680 60
04 FN2ILRFAHI 4,740 4,680 60
OFRN2ELRFA 395,000& = 12& 4,740
204 XA 120,960 120,960 0
01 g FRHA | 120,960 120,960 0
OAl & 650,000& » 1H = 123 7,800
ORAE 600,000& » 1H = 123 7,200
O=&(43) 350,000 * 4% » 12& 16,800
O5= 88,200
oal It AE 100,000 = 38 » 123 45,600
c5.80.3% 42,600
58(J12&) 150,000& * 21 » 12& 37,800
2(RSHE) 50,000& * 8 * 12& 4,800
Ooubl=2=st& 80,000& * 1%« 12& 960
Hees (3 H D) 583,000 882,750 A 299,750
BHXE 583,000 882,750 A299,750
ANEAL &= 583,000 882,750 A299,750
311 X2 =0l At&s 33,000 57,750 A24,750
06 JIEFX 30l AH&te 33,000 57,750 A24,750
OAEA &= Xt =2 0IXH(20014)
33,000,000& = 1A 33,000
601 XL I2=4E 550,000 825,000 A 275,000
06 JIEt=UXIL S 342 550,000 825,000 A 275,000
OAIEAL &dlF xted2 |3(20014)
550,000,000& = 14 550,000
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AANgHY Ayt
235 ofzrst (el & 2
=] X XH Cte| (o (=} o HAX2 OH X‘—-IL‘EL‘:— =2}t
&t 2,045,114 2,797,204 AT752,090
= 76,201
= 7,128
Al 1,961,785
gy Hegdat 2,016,614 2,767,704 AT751,090
= 76,201
< 7,128
Al 1,933,285
2ot dgdat 441,632 780,791 A339,159
UEZstus 24 27,182 42,991 A 15,809
101 Q14| 24,682 35,991 A 11,309
04 JIZAHZ2NHESE= 24,682 35,991 211,309
OA2IZEstns 2lAy| 24,682
ollEs 43,0008 » 2& » 230 19,780
oxgad 43,0008 » 2& » 46 3,956
o ARt 43,0008 » 2% » 11 946
201 LEt=EH| 2,500 7,000 A4,500
01 AtR2teld] 2,500 7,000 4,500
Oget+=2H| 2,500
odEstu=E W7 2,500,000& = 14 2,500
S FL3 A2 13,800 3,800 10,000
201 Bt 1,800 1,800 0
01 AtS2t2iHl 1,800 1,800 0
Oget+==t| 1,000
oZFRA JESuUSE W7
1,000,000& * 14 1,000
Oo=2g=¢ 800
oZREZ2s FAU ZNEM =&
20,000& * 40& A 800
303 Za= 2,000 2,000 0
01 Z&=3 2,000 2,000 0
OSRE F2s=HZ AU Alg
2,000,000 = 14 2,000
405 AHaHH S 10,000 0 10,000
01 ML ESF=H 10,000 0 10,000
OZ2sNSY YIEZHEDY
10,000,000& * 1CH 10,000
YT H WAL 391,000 614,900 A223,900
201 2Bt 84,000 84,000 0
02 3224l 84,000 84,000 0
OAE&HI= Xl 84,000
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A= HETAR SN H2SAD
o MUNSHE Yt
s AyLst (el &2
- FSIE =
SN EB SR NRAY - BES arey il ot o {imE=Eh
cHY B A2
7,000,0008 * 128 84,000
405 THAHE St 307,000 530,900 £223,900
01 RAUSEH S| 307,000 530,900 223,900
O#HARE HEETY 1,500,002 * 83CH 124,500
OLES2ARH 7Y 1,600,0008 * 5CH 8,000
OZRETY 60,0002 * 30CH 18,000
O s DR 400,008 * 15CH 6,000
OAZE0f 2 150,500
SAAERRATES O 2HolMA
110,000,0002 * 14! 110,000
clmATES N 7Y
15,000,0002 * 14} 15,000
oHMAATEYN 7Y 17,0008 * 1,5000H 25,500
285 2t 700 110,000 £109,300
405 XH&HE St 700 110,000 £109,300
01 RMUSEHSH| 700 110,000 £109,300
O2MAIED 700,008 * 1CH 700
P AL 2YY 8,950 9,100 A150
202 01t 7,600 7,600 0
01 2UHoiHI 7,600 7,600 0
OZ2a= oYl 7,600,000% * 14! 7,600
203 AR =Y 1,350 1,500 A150
038 AMEZLLREX 1,350 1,500 A150
OB BEAIH =T 1,350,0002 * 14] 1,350
25 S 178,881 176,654 2,227
2 21,120
= 7,128
Al 150,633
2502 SYX 45,668 45,850 £182
201 Yer2 Yyl 38,668 40,850 A2,182
01 AR eIl 2,400 3,000 600
osg+g 2,400
CHPAOSF HIADS SAR
20,0002 * 2AI2 * 52« 23] * 64 2,400
2 TZ2YH| 33,268 31,850 1,418
02322 % Al 10, 128
oIS FBHE FHE
500,0002 * 674 3,000
oHP0IS RAULHIE
99,0002 * 64 * 122 7,128
ON&RHIS Y] 23,140




A= HEX RS 2N EESH I
A MUXNSHEY 245
el NEE2s =& CEREED
A= 2H - H - H2A(3H) - MIRAY - BHES 01l A+oH dE= Hws2
== ° T > =Tl 2 - = oS =5 o= 0:”/&,% W=sa
oHEBS0IE BH= RANES
1,720,000& = 12& 20,640
odES0IE F2HH EHIFX
500,000& * 542 2,500
03 At 3,000 6,000 A 3,000
OFEs0tE dAFA 3,000,000& = 14 3,000
301 2EtEAMZ 7,000 5,000 2,000
10 HALAHIEAZ 7,000 5,000 2,000
OdLE3I0E U nNs Y #HAIE
100,000& * 2% » 6IHA * 53] 6,000
Oxg it s ¥ #HAEN
100,000& = 2% = 53] 1,000
L2302 222N 29 85,080 78,150 6,930
= 21,120
T 7,128
Al 56,832
307 Qlz2to| A 85,080 78,150 6,930
= 21,120
== 7,128
Al 56,832
02 SI2tZASE X 85,080 78,150 6,930
OXEs0s zghdaellt 84
71,280,000& * 14 71,280
= 21,120
T 7,128
Al 43,032
OXLs0le T2 22X S (A=}
13,800,000& * 14 13,800
XN&Eoeh y-MHIA 8 31,463 20,984 10,479
101 Q14| 11,463 10,984 479
04 JI2ZtHMZ22XNsE* 11,463 10,984 479
OEAHHMAEH JI2ZtHZ 2 Xt 11,463
cJlEgz 36,500& * 19 » 230 8,395
oxgaY 36,500& * 19 = 46 1,679
SR PN 36,500& * 19 = 11 402
oAZ2te2R+2  6,850& * 12A12F * 12& 987
201 LBt29H| 20,000 10,000 10,000
02 S==294l 20,000 10,000 10,000
Os32=2 ¥ HA 10,000
ocdAHNEEH ¥ OIOHEE HEIIZE
4,000,000 * 14 4,000
cHAHNHE L OICHEE S8 &
6,000,000& * 14 6,000
OAlIE &H| X4l 10,000
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M= BHNER SN H2SAD

HE: MUY s
ool NHFLs =7 (el & 2
_ _ N e =
AR .2 HH . C(E) - HRAY - BLS Ofl AF o4 il b o B2
SUICIHEC NAE SA2+
5,000,008 * 14! 5,000
SHAHOME AAE SDA
5,000,008 * 14! 5,000
H20IBAL 29 10,320 10,320 0
201 L2y 10,320 10,320 0
02 BZ2Y| 10,320 10,320 0
022232 2 AA 8,820
CSME FHOIBNL HMR
35,0002 * 21744 * 122 8,820
SNEETTES 1,500
oSPE FEOISAE FHISN
1,500,0002 * 14] 1,500
HREATA ASEBA 1,350 1,350 0
201 L2yl 1,350 1,350 0
02 BZ2Y| 1,350 1,350 0
SNEETTES 1,350
SASEBA HEIIFY RX 24
27,000,0002 * 5% 1,350
NARE 22| 5,000 5,000 0
202 01t 5,000 5,000 0
01 2UjoiH] 5,000 5,000 0
OXNABBEEE 0l 5,000,008 * 14! 5,000
HHHDE 2 514,220 894,710 380,490
= 55,081
Al 459, 139
NP2RHES TEYRANAYTE 76,225 158,472 82,247
= 30,490
Al 45,735
201 L2yl 76,225 158,472 82,247
= 30,490
Al 45,735
01 At 2ty 76,225 158,472 A82,247
OZEINYAABRE 24
76,225,000 * 14! 76,225
= 30,490
Al 45,735
N2THEH DALY & 52 DA 77,020 18,825 58,195
= 24,591
Al 52,429
201 L2y 77,020 18,825 58, 195
= 24,591
Al 52,429
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= XNz . O B ALO, . HAM 2 Al OH dE e
01 AtE222|H] 77,020 18,825
OANZ7 2 EHIA elAz
77,020,000& * 14 77,020
24,591
52,429
HHHE MHIAZ S 177,060 413,295
201 Let23d| 52,060 35,295
02 5234l 52,060 35,295
OAl & &I Xl 52,060
oMIZAMAIAE SKE
1,101,000& = 12& 13,212
oFMNZMEZ M (SCIOASAUN) RANEx
2,361,000& = 123 28,332
oSS MHMXIAIAE(UMS) RAE2
468,000&  12& 5,616
CRYMMABX (UPS) R X2 ==
2,000,000 = 14 2,000
ogzasll RAES 2,900,000 = 14| 2,900
403 NXISHMSK=01H 65,000 88,000
02 SIS0 CHStCH & AL E Yl 65,000 88,000
OAZR2&AEHIRXI22l  65,000,0003 » 14] 65,000
405 ItHatH S| 60,000 285,000
01 XL SZSFHSHI 60,000 285,000
OANZFASE0IB 1, 28HAIAY =522
60,000,000& * 14 60,000
QIHUYAIAE 2 178,915 299,118
201 L2yl 99,915 112,118
01 AFR22lH| 2,915 2,795
Ogt=ZH| 2,915
COIEHASSIE ANERHL0BE
120,000& * 123 1,440
cEHOSE RAN=s= 29,000& * 9JH 261
oBHITHUSE SNL2E
165,000 * 6IH 990
oHH T2 28,000& * 8JH 224
02 =234l 97,000 109,323
O=232z= & HA 30,000
oXNHQHY &
2,500,000 = 13|& « 12& 30,000
OAl & EHIs Xl 67,000
cHMHLANH RAES 250,000& = 12& 3,000
SQIHUAIAE RAIE=
10,000,000& * 4=2| 40,000
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NER D -E SN HESMD
B MUY ofUs)
cHel: HEEES XX CERE]
Al 32 t:sA_l X XH [:|-o|( |):”) }\.”I:I}\l,o-l A= Oﬂ/\}OH In_-lln“j_“:_ H|j§3k
== ° T = = ° . = * dos =5 O:H{ﬂ,% Lsa
oZEHOIXl |X2=H 2,000,000& * 12& 24,000
207 Ao H| 19,000 37,000 A 18,000
02 &AHHEyl 19,000 37,000 A 18,000
OSHOXNSESsE2L LA
19,000,000& * 14 19,000
405 KHAHFSHI 60,000 150,000 A 90,000
01 &L 2EFHSHI 60,000 150,000 90,000
OZHOINMHECHEZ AR
0,000,000 * 14 60,000
HEFHE 2FFHI 5,000 5,000 0
202 (4 H| 5,000 5,000 0
01 =Wl 5,000 5,000 0
OHEEZSFA odl 5,000,000& = 14! 5,000
FESHY 29 2 25 881,881 915,549 A 33,668
FBSHY RIS 600, 181 701,249 A 101,068
201 LBt A Y| 600, 181 701,249 A 101,068
02 3224l 600, 181 701,249 2 101,068
O332= £ HA 600, 181
ol WHHNML AIEZ  600,0008 * 123 7,200
ocdBtMst 1593 A 13,000,000& » 12& 156,000
ocdBtNs S4Bls 203 d
41,500& » 202 830
o AQHGH 2B DS AH(LBHA S ADSL)
70,000& * 803l 5,600
oxH SHaldz 6,833,340% » 123 82,001
oML Y SHS T/03IHZ (28931 )
6,000,000& » 123 72,000
oME3|H DATASIH = (265 &)
4,000,000& = 123 48,000
oXME3IH EOSY AL L SHS JH=(2
93l &) 13,000,000& = 12& 156,000
o ADSL(633 &) 1,500,000& = 12& 18,000
o A&t 2E HIIDATA Sl =2 (581 M)
500,000& * 53|« 2,500
oS ESMSAtEZ 2,300,000& = 123 27,600
oSKEHES Ar2Z(8314)
450,000&  12& 5,400
o8N MEZ(2101) 153,000& * 123 1,836
oAJI0ISt0IE,2F RAEYS L XA
sl8Z 80,000&  12& 4,560
o4 EE 2GAIAE(BD)IEZ
4,5008 + 123 54
oTHBASANR A JlHZ 50,000& * 12& 600




A= BN SN HESAD
o MUNSHE Yt
HRSAY 29 2 75 (2o &2
_ _ SIEN
2.RN I S(EH) - NRAY - BAS 0 & 24 e HRE2
oHIZY MSE 1,000,000 * 122 2,000
SUEFIY S 161,500 109,000 52,500
401 AlEHIL2CH] 8,000 10,000 A2,000
01 Al 8.000 10,000 A2,000
OASATHHHRIOl T2 THSAAIL O
8,000,008 * 14! 8,000
405 XtaHE S| 153,500 89,000 64,500
01 MMUSEH S| 153,500 89,000 64,500
OSeIS AHY HYHSH(IPT) S
130,000,0002 * 141 130,000
OSeiS UAYZE LM (UPS) R
6,000,008 * 294 12,000
OFUAESI =2 500,000 * 3CH 1,500
OZBSMM SHHHAZ I (UPS) LA
10,000,0002 * 1CH 10,000
SAFH |2 115,200 100,300 14,900
201 Y2 115,200 100,300 14,900
01 AL 22l 200 300 A100
SLIEER=T 200
oRHBAN 248 100,000 * 2CH 200
02 232 Y| 115,000 100,000 15,000
ON&REIS Y] 115,000
SHEIRY SN2+
40,000,0002! * 14} 40,000
CRUSATY RN
40,000,0002 * 14} 40,000
cSBUNBE BRI B4
10,000,0002 * 14} 10,000
cYASHTY BN
20,000,0002 * 14} 20,000
R PEBSEY| N5, B85 2K
24 5,000,002 * 1Al 5,000
HBSM 282 5,000 5,000 0
202 o1t 5,000 5,000 0
01 2Lhoitl 5,000 5,000 0
ONSSAAREX 0t 5,000,0008 * 14 5,000
HHSAZH(Z2SAD) 28,500 29,500 A1,000
BT 28,500 29,500 A1,000
o= 28,500 29,500 A1,000
201 Ysr2 | 16,300 17,300 A1,000
01 At 22l 16,300 17,300 A1,000
OgersgH| 12,300
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W SN SHSTLRIEH S
. %)ﬂgalm £x|J|8t sl

=20 = =

D HERx 201 x4 (A :H2)
2.2 B OS(E) - NRAY - BAS 0l & e Hlm= 2
SHUSIEHIE 429,050 263,400 165,650
HE2dE SXDIet &g 421,350 257,100 164,250
tHal =Xl 2920 =4 421,350 257,100 164,250
awxl 228 & AALEH 409,000 249,000 160,000
201 LBt 269,000 114,000 155,000
01 AFR 22| 11,000 6,500 4,500
OI0CH A=l JI2Hal & AeiHEl ol
15,000& * 3002 4,500
OSHSEHESXGAUXNE2S 3AXE S
o1 4 5,000& * 43| = 1752 3,500
O= &l 3,000
cHRY Z Al 3,000,000 = 14 3,000
03 dArZEHI 258,000 107,500 150,500
O=Fx dAL.U= &8 22 MH
50,000& * 3& * 1004 15,000
O%RX 8 =24 435 2= M&E =S 20,000
oAl | HHEXZAI OiH E2= ME
1,000& » 1& * 10,000= 10,000
oRXl EE ¥sY, Y S HHE
50,000& * 4& * 5004 10,000
ORX & =4 HAE=E 20,000,000 = 14| 20,000
OICA AL 2ZA E2 212 ME . 4X 117,000
oXHZIN(SH) 3,000,000& = 7942 21,000
oME A 5,000,000& = 4042 20,000
oym, 9 300,000& * 20JH £ 6,000
oD, WEEIl S
30,000& * 2& = 1,0004 60,000
COQHHEAE S 10,000,000& * 14 10,000
OIOCAAIE &2 & S& SFAA = 76,000
oRXEE A Y [0CHIH SH SSHA
A HA A= 300,000& * 80CH 24,000
o |OCAAtH FCIEH B A3Sd, Y S
- 1,500& * 4& * 5,00004 30,000
oPTH Ol=sat&E4a Xt 6,000,000& * 104 6,000
oPTE &EHl 2& A2 ?9:!
2,000,000 * 502 10,000
o |0CE AtEHl S EE &
1,000,000& * 2& * 33| 6,000
OI0CA ALCHY| 22 EHl EHI Xt
500,000& * 2& * 10CH 10,000
307 gI2told 140,000 60,000 80,000
02 2ItAASE X 30,000 0 30,000
OsHSEHRX AN EX
3,000,000& = 103 30,000
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A= BEIAR SN SHSTLRIEH S
HE: S ST RXI|L =Y
D HERA 290 X4 (25l &2
_ _ MNuE o
PA - M- HAZH) - NEAY - BES Off &F K Ofl At ot Hws2
04 DIZFSAIE 110,000 60,000 50,000
OI0CAATE &g B BA BX
60,000,000 * 1Al 60,000
OSHSYT S| #A 25
10,000,002 * 53| 50,000
HelRX 22 2 AAEH 2B 12,350 8,100 4,250
202 Oft| 11,000 6,600 4,400
01 =2Uoibl 11,000 6,600 4,400
OUEIRX S48 Ol
10,0008 * 58§ * 223 11,000
203 RE=WY| 1,350 1,500 A150
03 Al =LY 1,350 1,500 A150
OSHSYHKI AMAREZ
1,350,0002 * 14! 1,350
HHS AL (SHSLTRIEHS) 7,700 6,300 1,400
2 7,700 6,300 1,400
2 7,700 6,300 1,400
201 LBty 3,500 3,500 0
01 At 3,500 3,500 0
Osr4gY| 3,500
CHH AR S B 10,0008 * 122 1,200
o#H I S/l 10,0008 * 122 1,200
oJIEt+8H| 1,100,000 * 1Al 1,100
202 04t 3,000 1,600 1,400
01 =2Uloibl 3,000 1,600 1,400
OJl=A@40Hl 120,008 * 5 * 53] 3,000
203 PREWY| 1,200 1,200 0
04 ENRYAREAY| 1,200 1,200 0
ORN2YYLET 1,200,000 * 14! 1,200
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